BLUE CLASS MATHS ACTIVITY - MAY 15™, 2020

Hi Blue Class,
Today’s maths activity is all about multiplication.

For the first multiplication sheet on the next page, I
want you to answer all the questions with a timer.
Once you're done, check your answers to see how
many you got correct and note down how long it took
you to finish the first multiplication sheet.

Next, go to the next multiplication sheet to complete
all the answers with a timer again, but this time try
to beat your score and time from the previous page!

Happy Multiplying!

- Mrs Gifty ©




BLUE CLASS MATHS ACTIVITY - MAY 15™, 2020

Ultimate Times Table Challenge 1

Name: Number Correct:

Time: {\"::,}::;/‘:‘"'\,::.
1x1-= 11 x 12 = 10x 12 = 3x5= 1x9-= 7x1=
1x5-= 1x2-= 2x5= 4x1-= 2x9= 4 x5 =
3x1-= 3x3-= 9x12 = 3x7= 6x1-= 3x11-=
1x4= 4x3= 1x3= 11x7= 4x9= 3x9=
5x1-= 8§ x9-= 5x5= 8 x12= 2x7= 5x11=
10 x 3 = 6 x3= 1x11= 2x11-= 11 x 11 = 1x7-=
5x3= 9x7-= 7x5= 7x7-= 7x9-= 10x5 =
8§x1-= 10x1-= 5x7= 6 x5= 3x8= 8x11=
9x1-= 9x3= 3x10-= 9x9-= 4x 7 = 8§x7-=
11 x9 = 6 x8= 6x11-= 10x7 = 10x9 = 10 x 11 =
11x1-= 11 x3 = 11x 5= 2x3= 4 x 11 = 8§x5=
12x 5= 12 x 12 = 5x4= 12 x7 = 12x9 = 12 x 11 =
2x1-= 8§x3= 6x7-= 1x12-= 1x10-= 7x3=
2x2-= 9 x11-= 2x6= 2x8= 2x12 = 7x6=
11 x 4 = 3x4= 5x9= 12 x2 = 2x4= 1x6=
4x 2= L x 4 = 4 x 6 = 6x9-= 4 x 10 = 9x5-=
5x2-= 10x 2= 12x 1= 5x8= 3x6= 7x11=
T x4= 6 x4 = 6x6= 12 x3 = 6x2= 8x 4=
7x2-= 9x2-= 2x10-= 5x10-= 1x8= 5x6=
7x8-= 6 x 10 = 12 x 10 = 12 x 4 = 8x10 = 8§x2-=
10 x 4 = 9 x4 = 3x12-= 9x8-= 12x8 = 8x6-=
11 x 6= 9x6= 10x 6 = 3x2-= 4 x12 = 9x10 =
11 x 2= 6 x12 = 5x12 = 11 x8 = 11 x 10 = 8§x8=
7x12 = 10 x 10 = 12 x 6 = 7x10-= 4 x 8 = 10x 8 =




BLUE CLASS MATHS ACTIVITY - MAY 15™, 2020

Ultimate Times Table Challenge 2

Name: Number Correct:

Time: Previous Score:

2x 4= 4 x 10 = 12x 12 = 11 x7 = 7x3= 12 x4 =
3x1w= 6x4= 6x5= 5x6= 8§x9= 8x3=

5x2= 3x7w= 4x11 = 5x8= S5x4= 12 x 10 =
Lx 4w 8x11 = 6x8= 9x4=- 12 x 11 = Lxgh =

10x 6 = 7x5= 9x10 = 1x8= 3x6= 9x2=

2x 4= 2x9= 2x6= 12 x6= 8x6= 6x5=

8x2= 8x10 = Tx7m= 7x9= 3x9s= O x4 =

5x3= 6x2= 8x1w= 3x10 = Lxb= 2x7 =

10x3 = 4x5 = 9x09= 9xb= TxT= 8x5=

12 x1 = 12x6 = 12x3 = I3x4= 12 x12 = Ix4 =

3x6= 3x3= 10x 12 = 8x8= 6x3= 6x6=

11 x4 = 8x4 = 8x7= 2x7= 8x7= 11 x9 =
Tx2= Lbxbh= 3x10= 12 x11 = 4 x 10 = LxT=

8x3= 10x7 = 5x8= 5x5= 8§x2= 9x3=

4x5 = 5x5= 2x2w= 2x8= Tx4= 5x5 =

11 x9 = 11 x3 = 9x5= 8§x3= 9x5= 7x3=

4x3 = 9 x4 = 3x4= 11 x7 = 12x6= 6x4w=

9x2= T7x1w= 8x4= 3xb= 3x3= 12x2=
5x10 = 6x11 = 5x09= 11 x8 = 8x6= 9x5=

3x2w= 6x6= 12 x4 = 12 x12 = 5x12 = Tx7=

7x3= 10x5 = 5x2w= 5x3= 4 x 3= 12x8 =
8x5= 6x3= 9x1= 2x6= Tx6= 3x8=

11 x2 = 9x3= 2x7m= 9x3= 11x6= 5x3=

5x12 = 10x 10 = 12x7 = 8x2= 8x4= 12 x12 =




